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3  (a) Complete each statement by writing the missing value in the box.  

 

[1]  
 
 
 

 [1]  
 
 
 
(b) Work out.  
 
(i) 0.8 ÷ 2 

 
 
 

(b)(i) ......................................................... [1]  
 
 
 
 

(ii) 1.7 x 2 
 
 
 

(ii) .......................................................... [1] 

 

 

4  (a) Work out.  

4 + 16 ÷ 2 

 

(a) .......................................................... [1]  

 

(a) Insert one pair of brackets to make the calculation correct.  
 

5 x 7 + 1 ÷ 9 = 4  
 

[1] 

 



5  (a) Complete the following.  

 

(i) 52= ....................  
[1] 

 
(ii)       = ................  

[1]  
 

 

 

(b) Work out   

 

 

 

(b) ...........................................................[2] 
 
 

6  (a) Write these fractions as decimals.  

 

(i) 
9 

10
 

 (a)(i) .......................................................... [1]  

(ii) 
3 

4
 

 
(ii) .......................................................... [1]  

 

 

(b) A plank of wood 2.4 m long is cut into 6 pieces of equal length.  

How long is each piece?  

 

 

 

(b) ...................................................... m [2] 



 

 

 

7 



8  Darren has these 20 crayons in a box:  

• 8 blue  

• 4 red  

• 5 black  

• 3 green.  

 

(a) He chooses a crayon at random from the box.  
 
 
 
 

 

 

Which arrow shows the probability that this crayon is  

(i) blue,  

(a)(i) Arrow .................................................[1]  

(ii) yellow,  

(ii) Arrow .................................................[1]  
(iii) not black.  

 
(iii) Arrow .................................................[1]  

 
 

(b) Darren buys 16 more crayons that are either blue or red.  
He puts these in the box with the 20 crayons he already has.  
 
He now picks a crayon at random from the box.  
The probability that he picks a blue crayon is evens.  
 
How many red crayons did he buy?  
 
 
 
 
 
 

(b) ...........................................................[3] 



9  The graph shows Sarah’s journey from her home to a shopping centre. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

(c) State an assumption that has been made when the graph was drawn.  
 
............................................................................................................................................. 
 
.............................................................................................................................................

[1]  

(b) What is the distance from Sarah’s home to the shopping centre?  

 

(b) ..................................................... km [1]  

 

(c) Between which two times did Sarah stop?  
Explain how the graph shows this.  
 
From ........................ to ........................ shown on the graph by …………………………………….….  
 
............................................................................................................................................. 
 
............................................................................................................................................. 

[2] 



10  Rashid is making cupcakes using these ingredients.  

 

 

 

 

 

 

 

 

 

 

 

(a) How many eggs does he need to make 60 cupcakes?  

 

(a) ...........................................................[1]  

 

 

(b) How much butter is needed to make 5 cupcakes?  

 

 

(b) ........................................................ g [2]  

 

 

 

(c) Rashid has 210 g of cocoa powder and plenty of the other ingredients.  
He says that he can make at least 75 cupcakes. Is he correct?  
 
 
Explain your reasoning.  
 
.............................................................................................................................................  

[3] 



11  The diagram shows triangle ABC.  

 

 

 

 

 

 

(a) Construct the bisector of angle BAC.  
 [2] 

(b) Construct the perpendicular bisector of AC.  

[2] 

(c) Shade the region inside triangle ABC that is  

• nearer to AC than to AB  

• nearer to A than to C.  

[4] 

 

 

 

 



12  (a) Multiply out.  

4c(d – 5)  

 

 

(a) .......................................................... [2]  

 

 

(d) Multiply out and simplify.  

(3x + 2)(x – 4)  

 

 

 

(b) .......................................................... [2] 

 

 

13  A jacket has its price reduced by 20% in a sale.  

The sale price is £56.  

Work out the price of the jacket before the sale.  

 

 

 

 

£ ........................................................ [3] 

 

 

14  By rounding each value to one significant figure, estimate the cost of 3.9 kg of apples at 87p per 
kg.  

 

 

£ .........................................................[2] 



15  Here is the floor plan of a rectangular room.  

 

 

 

 

 

 

Tim buys carpet tiles for this room.   

Each tile is a square measuring 50 cm by 50 cm.  

The tiles are only sold in packs of ten.  

Each pack costs £20.  

Tim pays for fitting at a rate of £7.50 per square metre, with any fraction of a square metre rounded 
up.  

Work out the total cost of the tiles and fitting.  

 

 

 

 

 

 

 

£ ........................................................ [6] 

 

16  Work out. 

 (i) 4 – 5  

 

(i) .......................................................... [1]  

 

(ii) 2 x -3 
 

(ii) .......................................................... [1] 



17  Here are the first four terms of a sequence.  

6  10  14  18  

 

(a) Write down the next term.  

(a) ...........................................................[1]  

 

(b) Write an expression for the nth term.  

(b) ...........................................................[2]  

 

 

(c) Explain why 511 is not a term in the sequence.  
 
............................................................................................................................................. 
 
.............................................................................................................................................

[1]  

18  (a)  Simplify fully.  

 

(i)  3t + 5u -2t + 3u  

 

 

(a)(i) ...........................................................[2]  

 

(ii)   6a x 2a2 

 
 

(ii) ...........................................................[2]  
 
 

(b)   Make x the subject of the formula  
 

y = x2 - 1 
 
 

(b) ...........................................................[2] 



19  AB and CD are parallel lines.  

EF and FB are straight lines.  

 

 

 

 

 

 

 

 

Complete the following statements.  

 

X =  55° because ......................................................................................................................  

 

y = 70°  because ...................................................................................................................  [2] 

 

 

 

20   Solve by factorising.  

 

X2 + 4x - 12 

 

 

 

 

x = ..................... or x = ..................... [3] 

 

 

 

 



21 In a survey, 50 people were asked whether they have a car (C) or a bicycle (B).  

The Venn diagram shows some of the results.  

 

 

 

 

 

 

 

 

The ratio of those that only have a car to those that only have a bicycle is 2 : 1.  

One of the 50 people is chosen at random.  

Find the probability that they have a bicycle.  

You must show your working.  

 

 

 

 

 

........................................................... [5] 

 

22   Circle the value of sin 30°. 

 

 

 [1] 

 

 

 

 

 



23  In this question, assume all dimensions are in centimetres.  

Jess and Pete have many rectangular tiles.  

Each tile has length a + b and width 2b.  

 

 

 

(a) Jess joins three tiles together to make a larger rectangle, as shown.  

 

 

 

 

 

(i) Write an expression for the perimeter of her rectangle.  

Give your answer in its simplest form.  

 

(i)........................................................... [2]  

 

 

(iii) An expression for the area of her rectangle is 6ab + 6b2.  
 
 
Factorise this expression fully.  
 
 
 

 (ii) ........................................................... [2] 

 

 

 

 

 

 



24 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



25 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


